
Try to be direct and less flowery in your thesis statement

Does not address the topic properly,
vague language

This should be topic specific

Aleena Ahmad
Line

Aleena Ahmad
Line

Aleena Ahmad
Line

Aleena Ahmad
Line

Aleena Ahmad
Line

Aleena Ahmad
Line

Aleena Ahmad
Line

Aleena Ahmad
Oval

Aleena Ahmad
Line



Do not write social imbalances in the society
Write how they lead to ineffective legal action.

Legal action can protect women without any support from society.

effectiveness of legal actions

sentence structure

sp

What does that have to
do with ineffectiveness of
law
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The outline does not look at the both aspects
together. 



sentence structure

inconsistient pronoun usage

sentence structure

The analogy of child and mother does not relate to the context
of the essay

No cohesion or connectivity b/w the sentences

sp

expression

s

Both very different implications of lack of
societal protection
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d
Tense

The end goal is their protection, not making 
them socially aware

a

social protection

tortured

sp

sentence structure
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sentence structure

irrelevant to current context

incoherent sentence
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sentence structure

s

topic states the condition
that in this discussion,
social protection is unavailable

ed

sentence structure
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does not relate to how
this patriarchal system relates
to ineffective law performance

Irrelevant
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incoherent
the argument and the
evidence do not match

expression
d
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Incomplete
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 Category Total 
marks 

Obtained 
marks 

 
Content 

Qualitative analysis 10 1 

Quantitative analysis 10 1 

Validity & Reliability 10 1 

Relevance 10 0 

 
Language 

Sentence structure 5 1 

Vocabulary 5 1 

Clarity 5 1 

Command of language 5 0 

Expression 5 0 

 
Structure 

Outline 5 1 

Introduction 5 1 

Body paragraphs 5 1 

Conclusion 5 0 

Coherence Cohesion  5 1 

Coherence 10 1 

Total 11 

 


